VENDOR INFORMATION: HARDWARE
PRODUCT DATA SHEET LGCATION  CHINA NEEDED? ~ DES. - SPINDLE COUNT
DOMESTIC __ = NAME JM Y X ISSUE C 3/3-_5/0—
DESC. BED (HEADBUARD) _ |MPORT __ X NUMBER - N- 4/6 = 6/6.—_
FINISHS: COFFEE STEP 1—POWDER COAT # DESCRIPTION

i 76 5/8" 6/6 i — |HARDWARE BAG

| 60 5/8" 5/0 | 1 1/8" SO [T97T04) 1/4-20 2” FLAT ALLEN SCREW

| 93 5/8" 4/6 | TUBE 2 |(4) 1/4—20 3/4" FLAT ALLEN SCREW

] _ Z 3 |(4) 1/4—20 1/2" ALLEN SCREW
3 38 9 3/4” 4 174 | 4 [(4) 1/4—20 HEX NUT
5 [(12) 5/8” OD FLAT METAL WASHER
6 |(1) ALLEN WRENCH
7 |(1) OPEN END BOX WRENCH
26" 14 3/4" -
32" — [(4) 1 1/8" s.Q, GLIDES #362102
— [(2) LEG.EXT. #365801
T i F
4 1727 4 S
el I 1 1/8" S.Q. 1 SQ | Rler — =
. 1 1/8" S.Q. TUBE TUBE : —=
| I -
265 DIA. HOLES - |-
26" il
—[ SCREW STYLE LEG. EXT.— | |9 €0 — =
_Sf, 7 1720 ¥ ——
| l ISU REVISION
! 4/6 52 1/2" C/C | ADDING CARTON INFORMATION
| 5/0 59 1/2” C/C | UPDATE SETUP DIMENSIONS
! 6/6 75 1/2* C/C | = =
USE THIS AS REFERENCE ONLY - -

FAEIGHT WIDTH DEPTH | WEIGHT (LBS.) ¥ OF CINS CARTON DIM'S CU FT. [UPS.
size | FBD | HDBD | FTBD | HDBD |D—BED [greAkER INPACKED Jgep | _ BED BED |- |Y|N
3/3 |- - - - - - - 1-1- - |- - - -
4/6 |31 51 53 5/8[53 5/8|- a8 - |- [- |t |- |[31/2x353/4x581/2 350 |- |-|x
5/0 |31 51 60 5/8/60 5/8]- S4 - |- |- | L |- |33/4X353/4 x64 1/2 500 |- |-]X
6/6 |31 51 76 5/8[76 5/8|- 65— |- |- | L |- |31/4x36x st 548 |- |- | X
6/0 |- - - - - - 1=-1-1-1-1T- T - - -




